Paper: B.E_B.Tech
Set Name: |ltem33
Exam Date: | 28 July 2022
Exam Shift: |1
Langauge: | Telugu
Topic: Mathematics-Section A
Item No: 1
Question
D- 100601
Question
Type: MCQ
©S8es HH88mo xdy=(q [2 +y2 +y|dx, x>0 &wé& TS SBo x=1 Do y=0 ég
Question:
8w x=2 T y=a DG Polod 0808, BINH a e :

A: l

2
B: E

2
C: — E

g

D: E
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Topic: Mathematics-Section A
Item No: 2
Question
D- 100602
Question
Type: MCQ

- - - i 1 x2 —4x+2
Quest Q&85 8% (HRoire (HEES Dendoy SreED éméazéclqgmcé} f(x)=cos T
uestion: P

3% $88
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A: — oo, l]
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B: —l ’ m)
. 4
C: L
(=74:=)
D: [—m’ l:l
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Topic: Mathematics-Section A
Item No: 3
Question ID: 100603
Questi
T;pees: ion MCQ
— — - =
a, B, yeReo8 aa+Bb+yc=0=a=p=y=0 @cﬁ)egéatg
Question: — A AA = A A A - AA A
a=(1+t)i+(1—-t)j+k, b=1-t)i+(1+t)j+2k 0 c=ti—tj+k,
t € R $5880:508%8&. O t DBoE) B Jende S :
A eSS HODE S
B: N 8 J&dred0
c: R— {0} & $5m50
D: R & Jd&ed0
Topic: Mathematics-Section A
Item No: 4
Question | 400604
Questi
T;pees: ion MCQ
Question: D&% (888 (HDosre Herd Dended Sos°Y, cos ~(x) —2sin " (x) = cos ~1(2x) $oEBes

o) P Ingo =




A: 0
B: 1
C: l
D: _l
Topic: Mathematics-Section A
Item No: 5
Question ID: | 100605
Question
Type: MCQ
Question: | %, ® € {A, v}. ©@DE&. (pxq)o(p @ ~q) a8 Qg éééa':)o:ag, (, @) [BoADrRo :
A: (‘v’, f\)
B: (v, v)
C: (A, A)
D: (r‘\, v)
Topic: Mathematics-Section A
Item No: 6
Question
D: 100606
Question
Type: MCQ

a %0F $05mw0 (magnitude) 9 NS08 ©8 (x,y) e RXR-{(0,0)}8 (xa+yb) 96,
Question: N

— e — i b

(6y a —18x b) $6E8 eoomr GoGer b af HH¥ w8 old. |2Xb| Dend =
A 93
B: 273
C: 9




D: 81
Topic: Mathematics-Section A
Item No: 7
Question
D 100607
Question
Type: MCQ
1 i ~4
Question: (1, g)éo@om EONS HZop wow Solo EOAS Hsverd (@3baso ABC ) %czlen o
te (0, 2) 8 A(sint, —cost), B(cost, sint) 08050 C(a, b) @08, (a2—b?) =:
A: 8
%

B: &
C: 77

7
D: 80

%
Topic: Mathematics-Section A
Item No: 8
Question
D: 100608
Question
Type: MCQ

| aeN$§, NP RJoaogo R={(x,y): 3x+ay &8 7 Beo} e aem. R Doaogo a8

Question: | s svses Bomoto, Bob BE" D8 e LPED -
A: a =14
B: a e 4 Do) Mgheso
c: ad 10 3 grAodm S dR0 4
D: ad 73 grAoOHT D) 350 4
Topic: Mathematics-Section A

Item No:

9




Question

D: 100609
Question
Type: MCQ
a8 éééé} SBesBomd 60% H&eFen HBS® 40% HHHest, 60% Feond T
Question: ﬁédée:owmd). HBopen ﬁéééeowé éoaaééa SodeEen ﬁédeg_eaoaazé “()oaaé Bododen.
] abtheons 50 $008 2860 dRE)YET dkBTG. JSRds T HIRY edy
0Py
A: E
4
B: E_
16
C: E
32
D: E_
16
Topic: Mathematics-Section A
Iltem No: 10
Question
D: 100610
Question
Type: MCQ
y(m/4)=e " & wsges $dn8se00
Question: (si112 2x)%+(85i1122x+2sin4x)y=2e_4x(25in2x+c052x) cﬁ;;g% FES SBo v = y(),
x e (0, m2) ©a08, y(m/6) =:
A 2 2m3
J3
" 2 g3

ﬁe




1 _
a 27/3

NE)
5. 1 23
V3
Topic: Mathematics-Section A
Iltem No: 11
Question
D: 100611
Question
Type: MCQ
Question: y?=2r -3 Sordecho k) Podchn Q Hodde S ARS ‘égégéa:e:a R (0, 1) Hotkosh £
| poBoh%o8, PQR (B3beso G0 ©0808(0 :
A (0, 1)
B: (2, — 1)
c: 6, 3)
D: @,1)
Topic: Mathematics-Section A
Iltem No: 12
Question
D 100612
Question
Type: MCQ
11
Py -x+2y = HHE Solo C 00 AN Do P @dsod. C Dok
Question: T
o 98 a8 B, CP Sa&b 1 o 3‘@0&: SobBasn a‘:e)e:;@&QéJ&cﬁw R &ohde aﬂg
Po&inod. @it PQR (Bgbao Seego (CrdS? o8°) :
A: 2
B: 2.2
C:




m™
D: 8cos [—)
8
Topic: Mathematics-Section A
Item No: 13
Question ID: 100613

Question Type: | MCQ

Question: 72022 1 320229y 5 3 gPAODTP Eﬁrﬁa é?ﬁ{} :
A: 0
B: 2
C: 3
D: 4
Topic: Mathematics-Section A
Iltem No: 14
Question
D- 100614
Question
Type: MCQ
010

A=/0 0 1| 58050 By=AY +2A% 5r@808%08. @ n=18 B, =Adj(B,_;) @ows,

Question:
1 0 0

det(By) =
A: 328
B: 330
C: 332
D: 336
Topic: Mathematics-Section A
Item No: 15
Question
D- 100615
Question MCQ

Type:




1
S, = {21 eC: |z -3 =E} %08 0593 S, = {zz 32 G |22 — |22+ 1|| =‘22 + |zo— 1||}

Question:
0808, oY 2, €S, HOIKD 2, €5, 8 |zp— 21| B EIS Ve :

A: 0
B: 1

2
C: E

2
D: E

2
Topic: Mathematics-Section A
Iltem No: 16
Question
D: 100616
Question
Type: MCQ

_ ?>+17=1,2=0 Ko 2K Dothsh ol 2x+3y+z =6 oo Ko wowo EE) JoKo
Question: - e &
808 EE® O SBoD sotnod ?
A: (6x+5y—12)2+4(3x+7y—8)2=1, z=6—2x — 3y
B: (5x + 6y —12)2+4(3x +5y—9)2=1, z=6—2x — 3y
C: (6x +5y—14)2+9(3x + 5y —7)2=1, z=6—2x — 3y
D: (5x + 6y —14)2+9(3x + 7y —8)2=1, z=6—2x —3y
Topic: Mathematics-Section A
Iltem No: 17
Question ID: | 100617
Question
Type: MCQ
2

Question:

5
f(x)= %"‘%, x>0, Bwd) SR Dend 14 LONE, « @) Dend =
X




A: 32
B: 64
C: 128
D: 256
Topic: Mathematics-Section A
Iltem No: 18
Question
D 100618
Question
Type: MCQ

o, B B y e Soeth PO TeHD ‘ooaaée:éoﬁ.so&. 8(flx) =x, P x eR & @cﬁ};é%a)

flx) = o® +Bx3 +yx, x e R $H805» g:R-R 0508504, Ay, Ay, Agy oy A, ED é)éé&‘.oo é:uzééo
Question:

1 n
e @oé['_éa%@ﬂ &o8, f|8 ;Zf(ﬂf) Dend =
=1

A:
B: 3
C:
D: D7
Topic: Mathematics-Section A
Iltem No: 19
Question
D 100619
Question
Type: MCQ

o n=123 .08 aj=12a,=2 DO aniz=- o oGger a, ay, ag, ... © (3B

1
1 1 1 1

Question: ap +a_ as +a_ ag +a_ asg +a— “°

&3508%08&. Z.|s 2. ] L, fae| —— =2 =2“( C31), ©®008, o=

as a4 as d32

A: — 30




B: —31
C: — 60
D: —61
Topic: Mathematics-Section A
Item No: 20
Question
D- 100620
Question
Type: McQ
X
B0t &) wS8ono doiie (B0 f(:c)='fe"'f_t f’(t)dt—(xz—x+1)ex, x e R, G0o%)
Question: 0
508 Do :
2
A: o
Je
B: —2Je
C: _JE
2
D: i
Je
Topic: Mathematics-Section B
Item No: 21
Question
D- 100621
_?;pees:tion Numeric Answer
{A, B,C, D, E} @gtren 8o {1, 2, 3, 4, 5} ©08055@PA00 HSoe)do edbddsomnr, e
Question: | o0& AV VFET°© FEDH Ko FRBS (password) © DS s oo8od. 880 &8 ©gso
{1,2,3,4,5) $0& Ko S & FRSE © Dogy a X5% wond, o=
Topic: Mathematics-Section B
Iltem No: 22
Question 100622

ID:




Question

Numeric Answer

Type:
PRQS troad @) 8oven P(—2, —1,1) $o805» Q[%, % %} 050858, o 580 B
Question:
en 809 HBoIrerge Frrposeenrr, RS 8o Go) be° e a,—1, B ©ond, a2+p2
Topic: Mathematics-Section B
Item No: 23
Question
D- 100623
1Q_ue§tion Numeric Answer
ype:
(0) =38 08w £(1) = 5 @dbger, (0, 1) ©od808® BoHIry wdbomo Bok Wababo
Question: | f£:[0,1] » R &%8%&. f @) (PHD y=2x+30p (0, 1) &° Botb DK Hoode ¢
L&D Po&R, () =0 @(535 x e (0, 1) DothHe Foo¥) R dogy =
Topic: Mathematics-Section B
Item No: 24
Question
D- 100624
?ues.tion Numeric Answer
ype:
V3 3
15x
Question: a, p en z’@vo;osven, I 3 dx_uﬁ_l_ﬁ‘ﬁ, @cmé, a+p =
0 \/1 +x2+y(1+2%)
Topic: Mathematics-Section B
Item No: 25
Question
D 100625
1Q_ue§tion Numeric Answer
ype:
I~ p 1 2 9
A= o8k B= ,a, P e R @808 (A+B)?=A%+ D &Y H063
2 « 1 0 2 9 -
Question:

a Dend a; LB (A+B)2=B? D &)%) 50T o Dend 0t 058508, O |y —ay|




Topic:

Mathematics-Section B

Item No: 26
Question
D- 100626
1Q_ue§tion Numeric Answer
ype:
p.qeR& f(x) = (x—p)’—q, x e R&BA™ q > 0 T3S Dende (Haboho &%, ay, ay as
Question: | 0800 a, en ai)céegaﬁ)o p 080 &S Jorossos® @Oé@&%@‘s 65@_@&3263580&. o) i=1,2,
3, 408 |f(a;)|=500 wowd, f(x)=0 D) Swrere iy HSH SgEgdo =
Topic: Mathematics-Section B
Item No: 27
Question ID: | 100627
_?;pees:tion Numeric Answer
2 2
e 2 X y —
a>b>08, wddocdocho H:x?—y? =1 580 &gaﬁe);ép B —2+?—1 8
a
(1) E &%) ¢8)058, H Bo¥) 8058 & 9&°o (reciprocal)
Question:
5
(2) E8cin H o adind 550 y= \E x+K e05&ad.
oS 4(a2+b?) =
Topic: Mathematics-Section B
Item No: 28
Question
D 100628
_CI_)ue§tion Numeric Answer
ype:
1
xq =3 8D deedarso 5 T° Xy Xy X3, Xy &8 e 3H w88, B8 2,0 (v,—i)?
QUEStON: | 5 458 B8 o8 B8 Bmosd) SASEEHIRD. T FF SEro¥ o eond, ¥ © Ted KoY
?’.gjvq;oéo =
Topic: Mathematics-Section B
Item No: 29
Question ID: | 100629




Question

Numeric Answer

Type:
100
Question: i (x+2cos x)S +2(x+2cos ;'c)2 +3sin(x+2cosx) | *
1m —
3 5 =
x=0 (x+2)” +2(x+2)% +3sin(x +2)
Topic: Mathematics-Section B
Item No: 30
Question
D: 100630
?ues.tion Numeric Answer
ype:
. 3x2—9x +17  5x>—7x+19
Question: = . -
2232110 32 15xr1n PR x B o) TS deode Iwgo =
Topic: Physics-Section A
Item No: 31
Question ID: 100631

Question Type: | MCQ

B2

— | G08), Dooen :
Question: 2}

(pp: Bsesrdo (H3F Bod LB B: lowtyp/eh! go)

A: [M L2 T—2]
B: [MLT 2
C: ML T2
D: [M TR =8 A~
Topic: Physics-Section A
Item No: 32
Question | 490632
Question MCQ

Type:




2.8 NCC0E 9568 $& 9km/h & Lro& 3éy Bol o0& M&HH)B, 19.6 m. dHS® &
3y 8 28 558 LEHN &fn. ob a8 S0 HrNHE SEH Bodbd HBDOS.

QUEStON: | Smgn@ sa Brots KOR SR Sraid BSOS B0 By 00 S08 BrELw :
(g=9.8 m/s2 ™ 85@WEIR)

A: 5m

B: 10 m

C: 19.8 m

D: 245 m

Topic: Physics-Section A

Item No: 33

Question

D: 100633

Question

Type: MCQ
BoH IH I (HRrrest, (8535078 5 kg B0 H& 25 ms~1 & Ethend) a8 D

Question: | Bot BB Aerd EED (i) 3 DEDED, (ii) 5 DEDOE SHHT JToErI8 SD)ob.
B0 &E® KBS D)5, &Jaé;clgso& :

A: 8050 LoBusn $5K50) e BIVKK) o0 wesn Bod ﬁocSUgeJeS‘a QS sw.

B: BodH ?606503&:65 BSE550 .88 500 $Tod w0 .

C: Qo*d8 @00 Botd ‘éomﬁcg)@é'& $EPSED 50 (HSFSHEw I I.

D: ¥oek8 oo HB%N (HSPESE0 Both ?60650‘;3@6*" 3% I.

Topic: Physics-Section A

Item No: 34

Question

D: 100634

Question

Type: MCQ
2.8 Bord ¥ rdd® (K5oee 10 g. Berdd S0 MO DEES 4.5 cm/s IK08° acHb%

Question: | $X0B. Berd 55 088 Iwdo JoENCDHE. wond Bord DS HITD o8 2O

@ 08°):




A: 3
B:
C: 12
D: 18
Topic: Physics-Section A
Item No: 35
Question ID: | 100635
Questi
¢ ;pees: ion MCQ
Question: (Bgoe8 Sredone g aﬁeg&go 2% éf(}é, oy EWeso g 600800 S0t :
A: 2% éﬁgé}O&}
B: 4% é?@é)@&)
C: 2% BHeHob
D: 4% B0
Topic: Physics-Section A
Item No: 36
Questi
Dot 100636
Question
T;pe:I MCQ
Questi @c‘ggsé Sz°ego 1 cm? DY, SKPED [SIv/eFs) SO HeS oo (Bif cHoh Heeso)
n:
Hose (Y=2x10" N/m? e 955@&56)
A: 1x107 N
B: 1.5x107 N
C: 2x107 N
D: 25X1I* N
Topic: Physics-Section A

Item No:

37




Question

D: 100637

Questi

Q ;pe:: ion | vica

Question: 2.8 567 moed Y50 50%. 1OS S 40°C N g0 30% DEIDECR. w0
RBwE), SP/HS -

A: 166.7 K

B: 2551 1K

C: 266.7 K

D: dOZ. L K

Topic: Physics-Section A

Item No: 38

Question | 100638

Questi

T;Jpees on MCQ
(8ol Boh DDSBeeen BRDED :
DSTes I: e escS)aeaio S5 wendHe ST @éééﬁm e8NS &5 pesHHEHob.

Question: | Q&Bea I1: =S FcoHEE edjusd wmdo rms & v. eFPHSD BBoD 3 e8yesd

©e0Her vd)es SSreHeore DESFEean; rms S eHd 20 wHEk.

2 D8eee Kars, Bod aX@add aTrmed® odiod KBGO :

A D58es T L0 DS8es 11 568G

B: PRBes I 500050 DX8es I SBGHID =05

C: RRBe 1308 500 ARBes 11 50

D: D58 1 HBFHB otk oD D5Bes 11 HBHG

Topic: Physics-Section A

Iltem No: 39

Question ID: 100639

Question Type: | MCQ




SB0K 380

. i i
Question: y =105 SmTTr (400 t — x) m
S SBoK Jisdw :

A: 200 m/s

B: 2002 m/s

C: 400 ]I'l/ 5

D: 4002 m/s

Topic: Physics-Section A

Iltem No: 40

Question

D- 100640

Question

Type: MCQ
Bo gaﬁo%enen, aﬁ"&é& e 08 40 pF o [_éa%eﬁﬁ EOaPH. a8 géa%é’) Sende zfnc.ié é@eﬁﬁb&

Question: | 55 ?go'noéo Kﬁzf& éaﬁgo & o, éa‘m’éoe:eg gso& 24 pF @(ﬁ)@g&pﬂ DS wond K
Dend :

A 1.

B: 2.5

C: 1.2

D: 3

Topic: Physics-Section A

Iltem No: 41

Question

D 100641

Question

Type: MCQ

, 28%80 R, &) S5 DrhD o FEY eben PEHDH BBOD @cﬁ)egéaen S, &°&

Question: e o =
D580 LB eden e QYA :

A: 9:1




B:

C:

D:

Topic: Physics-Section A
Item No: 42

Question ID: 100642

Question Type: | MCQ

e SR (Haese SoPETRY) B TXo° PoBBD)
(A) Dé Jogy SNoBeo D
(B) edHImos g0 DoSEo S

suestor (C) D J8°eg0 Shotto HY
(D) @&yoh ATred dorosw)) Shosto
B0 a))d pOEPe Dok wdjed SNS 3P0 JoHsod :
A (B) $0805m (C) (3D
B: (C) Ho8050 (D) Sl
c: (A) 8050 (C) Lo
D: (B) 50805 (D) &l
Topic: Physics-Section A
Item No: 43

%fes“"” 100643

Question
Type: MCQ




He068 Srdisen, THAH FolBS 045 kg m~! &) &%) 8 B8 SEroSborr a8 Teom
00 B, 888 aren oo 45° Fwos® eh)B. IS 0.15 T wchIod FEo &
Qe HABDHDD, VoBEr GoKerds S46° (HHIrousHodS 8 Bardro :

{ g=10 m/s? sr&od}

Question:
B4 Al
45° 1
A 30 A
B: 15 A
C: 10 A
D: 3 A
Topic: Physics-Section A
Iltem No: 44
Question
D- 100644
Question
Type: MCQ
a8 98 (286 Sechod® Haese wESmo 5 sin(49 wt—30°). [ﬁnééé&o 30 mH eond
. (880 TwE) I8 $08Bes0 :
Question:
22
{@0333 = ?}
A 1.47 sin(49 wt—30°)
B: 1.47 sin(49 wt +60°)
c: 23.1 sin(49 wt—30°)
D: 23.1 sin(49 wt+60°)
Topic: Physics-Section A
Iltem No: 45
Question ID: | 100645
Question MCQ

Type:




BotH CSPHSPL TREP $5608° SRy (BArBodd SHTE o8 & v, :
(Given c=3x10% ms-1)

Question: Air [Medium 1|Medium 2
pe=1 pe=1
e =4 =9
S
A: 1.0x 108 ms-!
B: 0.5x108 ms-!
C: 1.5%108 ms-!
D: 3.0x10% ms-!
Topic: Physics-Section A
Item No: 46
Question
D: 100646
Question
Type: MCQ
Question: Fogredes w5088, o8 é@aﬁéé Cﬁﬁééﬁ&}g&)@ﬁ, g@? Eb¥o HBn efiisre a’néé LB
T 30 em, srsEER Sdab e5gso 2 eawSH, §F Stko @ng) Teosso ;
A: 20 cm
B: 30 cm
C: 10 cm
D: 15 cm
Topic: Physics-Section A
Item No: 47
Question
D: 100647
Question MCQ

Type:




1,227

$888es0 A = nm aeni_s;ﬁ BoE) &-@ﬁﬁ ééoﬁ@_%@_ éé}gsémé'\)é TS &8
x
58088006 x 008 :
Question: | B8 m=aoES (($S50°3
P=Qolgs (55 3o
K=&J®L5'c5263 et 2t
V=8 & &dwo Job0d o FPyed®
A vmK
B: \/13
C: ,JIZ
D: ﬁ
Topic: Physics-Section A
Item No: 48
Question
D: 100648
Question
Type: MCQ
% o 7
Question: a8 Bé@w&éé doego Gws) @éé&)é o 60 Seren. ©en (&5550°3 & 3 S Ho&
&)ﬁba‘f&o BDoLeeNE ég Sddooko :
A: 120 days
B: 130 days
C: 180 days
D: 20 days
Topic: Physics-Section A
Item No: 49
Question ID: 100649

Question Type: | MCQ

Question:

Bod Her08° B0 (Aers D) wdoBem SEeen :




A:
v »
I

B: >

EL

I

C:

¥

I 'y
D: . / Z
( Vv

Topic: Physics-Section A
Item No: 50
Question ID: | 100650
Question
Type: MCQ
Question: | oHd HOMWE LrExRBRS & DEEBes BoKHOT SOKEAR EREnBES D (1) :
A: b= 3 )
B: B = 1
C: == 2
D: == 0
Topic: Physics-Section B
Item No: 51




Question ID: | 100651

Ques.tion Numeric Answer

Type:

) A A A = A A A

Question: | 27 +4j —2k Qo8) REDS0 i +2j + ak o5 T®) ®OoNS o Dend

Topic: Physics-Section B

Item No: 52

Question

D: 100652

Ques.tion Numeric Answer

Type:
o CSrEHBS 3&@?@6&5 esd80 Gy @géé‘i)eﬁ srodn 2 Sotie 30 Adoaren. @b

Question: | @X0HB0DY EES ﬁ;cméoéﬁ 64 3Bey 8B DETEER)) BTPORO0. & 25808° Edore HRTcHEO
LodiRoseaned8 ég g% BHoho fSoéren.

Topic: Physics-Section B

Item No: 53

Question

D 100653

_(I?;Jpees:tion Numeric Answer
2.8 0%00f 20& DOY (B’ 560 nm e Sxb sod BESes aﬁega'::gée&) SE&D sm@éée

Question: | &gk T2 7.2 mm. K BEE o8E® HBEGes NN BB BB 5208 éée ESvlnlg
¢rGo 8.1 mm. DoKsd P08 S8on3Eso nm.

Topic: Physics-Section B

Item No: 54

Question

D: 100654

1Q_ue§tion Numeric Answer

ype:

2.8 (@B LCR HochHod®d (Haede H858meo giexs] Dende® % Oéxn @cﬁg D Ygen

Question:
212 rad 5! 8050 232 rad s~ LX¥odHoé’ AP0 R=5 0. Socho & HgehHo (BBo
_ mH.

Topic: Physics-Section B

Item No:

55




Question
ID:

100655

_I(?;pees:tion Numeric Answer
Bod® S5y 20 OGS0 DocHd 300 cm FEY &F) PBIGEE e KD T
28 (RB.) 06050 2.8 4V emf &) (©H35ren 50erd8 S0P, ITEE 286 R T8
20 mV 5080 &Hed SeoohHoe® Fely Dothsy 60 cmzég &H0. R’ Dend 44
4V R
Question: | —(—{RB]
A B
———©
20 mV
Topic: Physics-Section B
Item No: 56
Question
D: 100656
Que§tion Numeric Answer
Type:
RS [grsoBo HBdre 1.2 x 10730 Cm B 2.4 X107 Cm &) Botd Bxgmred 5x 10
Question: NC-1 50805015 x 10 NC-1 2200 ﬁé&&éé@ Dekogedy g@ﬁeeﬁ'& SO, ByEharen 0508503
&FE& r‘i&’)ﬁg Q8 l, ONd x Jend
X
Topic: Physics-Section B
Item No: 57
Question
D: 100657
_?;pees:tion Numeric Answer
e, o8 3D 36 km/hr 3508 Eoend) Beo 3‘@26& Seo BwE) TS:DKgEw 320 Hz
Question: | 8050 Bew (BB 88 (HOER DT, (DBLR TPy Hz. m0&® g
St55m 330 m/s.
Topic: Physics-Section B
Item No: 58
Question 100658

ID:




Question

Numeric Answer

Type:
don: &0 T3 2 mm &J) &8 O i 1750 kg m~3 Joo|e5es @é&@éo@ﬁ Qorr 0.35 cms !
QUeSton’ | Seng® 298 BB, (B0 @) Ry roeaso poise. (P8 o5 &EHEB50)
Topic: Physics-Section B
Item No: 59
Question
D: 100659
?ues.tion Numeric Answer
ype:
‘m’ [géégm% E@zécj_ &3}& (He2088 edew) $8EE E & gendr @Joﬁ& 25 cm HohEso
BoBY TP BB DHED wawdd. TES R)oh BoE) @)oh Jorossio nE Nm~ ! ond
n=___
Question: _E
m
F&Jé&?\)ée)o
Topic: Physics-Section B
Item No: 60
Question
D: 100660
Question

Type:

Numeric Answer




(850°8 "M’ 08050 g0 ‘a’ éid) Teenid a8 8508 DHod $608° SrBidey BTN,
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Question:
A kR
Topic: Chemistry-Section A
Item No: 61
Question ID: | 100661
Questi
T;pe:: ion MCQ
Question: | (Bo& TE® KBTS DSBes (statement) IO DO ?
A: éo@ﬁézﬁ:o é)éajcg aﬁaq&é aﬁ:ogoe?;ﬁ &)@LSSE Srvehob. &8 éJUD(_?ﬁDQ_eSE5 e SBridoTed.
B: 2.8 HESrenHE’, 2.8 QO[PS EBors DS () D, &8 wOEPS.
C: &6 Sgo &8 (existence), PE° =S HBDHEED TG Cﬁe)ﬁ)éﬁbozﬁaaﬁoaz.
D: a8 HBSTen @6{,}@5 s°q0€0 50&35&‘) n S8 1 o&° Kmtéﬁo SEADI{ VRN~
' (characterized).
Topic: Chemistry-Section A
Item No: 62
Question ID: 100662

Question Type: | MCQ

Question:

Bod Homogred® Db HBFGHE =K ?




A: AH = AU—-PAV
B: AU = q+w
C: ﬂ.S &t L\.Ssu” 0
D: A= AH-TAS
Topic: Chemistry-Section A
Iltem No: 63
Quest
puestion 1 100663
Quest
T;pees:tlon MCQ
0F-12 05 - & a8i8Dim :
ﬁ% -1 83% -1I
(A) Cd(s) + 2Ni(OH)3(s) = CdO(s) + 2Ni(OH)p(s) + HpO(l) (I) (3508 emgead
(B) Zn(Hg) + HgO(s) = ZnO(s) + Hg(l) (I) Bord arged
Question: &513‘%
(C)  2PbSO,(s) + 2H,O(l) — Pb(s) + PbO,(s) + 2H,S0,(aq) (1) =30&S $oéo
(D) 2H,(g) + Oy(g) — 2H,0(1) (IV) 8okd ermgd =8
Bod pd)sPe ok VOGS esarandd aé}&gso& :
A (A) - (I), (B) - (IT), (©) - (I1I), (D) - (IV)
B: (A) - (IV), (B) - (1), (C) - (1I), (D) - (1)
C: (A) - (ID), (B) - (1), (©) - (IV), (D) - (1)
D: (A) - (ID), (B) - (1), (©) - (1), (D) - (IV)
Topic: Chemistry-Section A
Item No: 64
Question ID: |100664
Question MCQ

Type:




0F-19 8§ -II & 3558 S8m:

9% -1 Eg - 11
ey aéjﬁéaﬁw
(A)  4NHjz(g) + 502(g) —=4NO(g) + 6H,0O(g) (I NO(g)
Question: (B) Ns(g) + 3H,(g)— 2NH3(g) (I)  H,S0,(1)
(©)  Ci2H2011(aq) + HaO() = CeH 1206 + CeH1206 (IT)  Pt(s)
et s
(D) 250,(g) + O2(g) = 2503(g) - (V) Fe(s)
Bod adjsPe Dok DOGHR a3 &Jéo&%so& 3
8 (4) - (1D, (B) - (11D, (C) - (1), (D) - (V)
B: (A) - (), (B) - (1), (©) - (1), (D) - (IV)
C: (A) - (), (B) - (IV), (©) - 1), (D) - (I)
D: (4) - (), (B) - (1), () - (IV), (D) - (1)
Topic: Chemistry-Section A
Item No: 65
Question | 400665
_?;pees:tion MCQ
& 1808 mobed® B3I Kods Srowe ae)[_sgﬁ Py QoGrd) ey Sdrdore
&otwod ?
(A) Rb $5805 Cs
Question: | (B) Na s08ai» K
(C) Ar &80 Kr
(D) 1580 At
Choose the correct answer from the options given below :
A (A) £8050 (B) S
B: (B) S0805w (C) S




c: (A) 8050 (C) S

D: (C) $o805%» (D) HoeEDd

Topic: Chemistry-Section A

Item No: 66

Question | 100666

Questi

g ;pees: ion MCQ

Question: | AFPES (BB T8 Sw&pePl) Fol@EBoSrdS (BobSod® D $AJG (suitable) ?
A: 2(:1125 =+ 302 —)2(:1120 +- 2802

B: Fe;O, + CO — 3FeO + CO,

c: Al,O5 + 2NaOH + 3H,0 — 2Na[Al(OH),]
D: Al,O5 + 6Mg — 6MgO + 4Al

Topic: Chemistry-Section A

Item No: 67

Question ID: | 100667

Questi

¢ ;pees: ion MCQ

Question: 56 égé‘ﬁé‘s BBSeser) )0 Ledy)Sdd DB S oderen D :
A Ca(OH), £805» Mg(OH),

B: CaCO; 8¢ Mg(OH),

c: Ca(OH), £8050 MgCO,

D: CaCO;, 5H8as» MgCO,

Topic: Chemistry-Section A

Item No: 68

Question ID: | 100668

Question MCQ

Type:




Question: | (808 DBes (statements) ©S° DO HBFPIO D ?

A DB LiF & $50)5 (@rsBahsd =dnsn ol 0oyh@ESS domrd).
B: KO, $Hoeahamodsn (paramagnetic).

c: 55 ©3IATEE FQADO (Eeesn TS (conducting) SEParR) (HEGH0D.
D: PerQoho v LoB PEuho o @hE Fo|BEEs EOA Gotnod.
Topic: Chemistry-Section A

Item No: 69

Question ID: 100669

Question Type: | MCQ

0T -1 05 - I8 SES° Iend&S Teaind), &, e8HSEw

05 -1 05 -
(A) (NH,),Cr,0, —2— ) H,
quesion: | (B) KMnO, + HCl — (M) N,
(C) Al+ NaOH + H,O — () o,
(D) NaNO3; —2— (V) Cl,

(B0 aysPe Dok DOGES a3sT°endd azs;ﬁo& :

A (A) - (D, (B) - (II), (C) - (I), (D) - (IV)
B: (A) - (), (B) - (I), (C) - (IV), (D) - (II)
c: (A) - (1), (B) - (IV), (C) - (), (D) - (III)
D: (A) - (), (B) - (IV), (©) - (), (D) - (II)
Topic: Chemistry-Section A

ltem No: |70

Question 400670




Question

Type: MCQ
Question: | ez eHo Lod H, & Ve Tk %8 Bobar8&® T8 o B Gotob ?
A: Cu
B: Mn
C: N1
D: /n
Topic: Chemistry-Section A
Iltem No: 71
Question
D: 100671
Question
Type: MCQ
(Bod Botd DBeaen (statements) BRI
QS8 I: By HBSP 88AS &) (dissolved oxygen) 08050 BOD denden eSE)0re
Question: GOET°OW.
DhBes 11 : cfwb@f’)&éﬁ5 E6AS edyas HBrwo éﬁgcﬁeén aﬁaé@o&:.
2 B egrdore, Eod a:é‘.')b)ﬁe: Hood e—.se‘Séoe'ﬁ JOGDR essTeenso 3263&550& :
A: NRNBes I 0005w R8BI B S8R
B: NRNBes I 005w DX8es 11 Bokr SBGID 5°8)
c: D58e 1 5850 =0 D5Bes 11 SBGSE =
D: D580 [ 5BGSIH =5 D SGes 11 SBGHSE
Topic: Chemistry-Section A
Iltem No: 72
Question
D: 100672
Question MCQ

Type:




05-19 08 SI1 &8 2s8580:05m :
o -1 o3 -1I

(I) 330)65 éE‘i}é@ﬂéo

(B) ><]>< () SESErdE $Hyso

Question:
(C) () eSode (non-planar) IPAE REE $a¥so
(D) (IV) BRE Sag¥so
Boh n)sPe ok JOGED aarenid &JE@J&%SO& :
A: (A) - (1), (B) - (1), (©) - V), (D) - (III)
B: (&) - (@V), (B) - (1), (C) - 1), (D) - (1)
C: (A) - (), (B) - (IV), (©) - (1), (D) - (1)
D: (A) - (IV), (B) - (1), (©) - (), (D) - (1)
Topic: Chemistry-Section A
Item No: 73
Question ID: | 100673
Question
Type: MCQ
(Bod SEFH JOTHS DS DEPo& :
CH,
Question: (BH3)2 | Hg(OAc),, H,O
Hzoz/ OH | NaBH,
CH,
A: ‘A’ $08050 ‘B’ &0, Bor Lrtse Sofed (@diraargen.




A SRS (BoSradio S0 B oirod &t (Bdiresdgi.

C: ‘A’ 58050 ‘B’ en Bokr dSreo SrC)REee (BdSresege.
D: B SrERTH Boiredio &Odm ‘A7 dirod SrERsD (Boiressso
Topic: Chemistry-Section A
Item No: 74
Question ID: | 100674
Questi
¢ ;pees: ion MCQ
Question: BodS HHDGS B%rS o o éﬁa&@’éa‘m ey pK, Jeodd (580 ?
H

A:

H,C — COOH

H O
B: ||
H
C
C: H3
O
H
OH
D: (
O

Topic: Chemistry-Section A




Item No: 75
Question ID: | 100675
Questi
T;Jpees: 1on MCQ
Bob Sog odEos® QB (DEPS (BosresTrgen A 0805 B ol HBodod :
(1) CH3CHCHB, Al N Cr,0,/H,50,
(2) Oz
Question: > P > A
3 H H,O
OH /B, Br, in CS,
®
Br
OH
Br




0O OH

Br Br
c and
O Br
OH OH
Br Br
D:
and
Br
Topic: Chemistry-Section A
Iltem No: 76
Question ID: | 100676
Questi
T;Jpees: on MCQ
B0t BS DOBBSLENSE BOFH DSBes (statement) H KHOSOS :
Question: C2H50Na
e CHy—-CH,-CH,-CH-CHy; ————> A + B
| CHOH  (5eex)  (09)
A A - CH,CH,CH =CH -CH,, B - CH;CH,CH,CH = CH,, 2e5ES (BaSesgegen
B: A - CH,CH,CH=CH - CHj,, B - CH;CH,CH,CH = CH,, &f$38 (8direasmmgen
C: A - CH,CH,CH,CH=CH,, B - CH;CH,CH = CHCH,, 53 (BoSreaegen




D: A - CH3CH,CH,CH=CH,, B - CH;CH,CH = CHCH,, 2&&85 (8oiresmmgen
Topic: Chemistry-Section A

Item No: 77

Question ID: 100677

Question Type:

MCQ

Question: 38 Boodds0 e BOOS FOHE ©YoHid :
A &i68-1, 2-36S H0An BodS-1,3 Zrond)O5 exno
B: B DS-1,2- o6 H00cin BodR-1,4 Bseond)O8 eipo
c: &i6S-1, 2-36.5 $00an BodS-1,4 Zsrond)O8 eko
D: &68-1,2-365 o805» BodS-1,2 gseon& 108 exipo
Topic: Chemistry-Section A
ltem No: 78
Question ID: | 100678
_?;pees:tion MCQ

Bod 25(@BS 286 TP AeRS (X) Tood) HOGN PEFE QT30 :

HO—(lz—H

Ho—tlz—H 0
Question: H- (lj —OH

HO—(lz—H

H-d

CH,OH
(X)




3e
®
|

OH
A: OH
HO |
OH
HO =i
OH
B: OH
HO |
OH
HE ]
HO OH
OH
HE =i
HO OH
D: OH
OH
Topic: Chemistry-Section A
Iltem No: 79
Q .
uestion 1400679
Question MCQ

Type:




Question:

QoBR AE°E Hoed K$oxofod Q) V5Seaen (Statements) BSRTTOM :

(A) & 26%% (Competitive Inhibitor) Srothen £605» &= (Non-competitive
Inhibitor) A&EE sHothen Gotron.

(B) & gmen Boirde H0c IEHOE Fare $E podEHHTAD.
(C) D0V eeen, d&HOE Froid w580 (block) Hoden.
(D) 8D A%ren, Buirde Fared wX6°HoH MHotben.
Bob adEre Dok VOGN aaranid amﬁo& :

A (A), (D) &0 &3S
B: (A), (C) e Sr(&
c: (A), (B) & &m(&ad
D (A), (B), (C) &» Sr(ED
Topic: Chemistry-Section A
Item No: 80
uestion 100680
Questi
T;lpees 1on MCQ
K6 SPES 58 H0, & oTrEE odirS S8 K88 TR BOE RS :
(A) dodpis srerm SAEHBVE Fb) ([EHErd) @ sHErAoTD.
(B) <PF&a%o cﬁaﬁr‘é@g&f s e Kl [Trsies megd o8 Q) S8 GoddS.
Question: | (C) QDB DE)ES Bobd Per) SIRHBEDSBL.
(D) OB DEHES Kooth Terd) SR SADHTD.
(E) «P&ao Cé(fb‘?ééo)éf (Erses meEd Kl [@edee PES S8 dgad)td JENDTP 0oBH8:.
Bobd adjsre Dol DOTLN wT e amﬁo& :
A (A), (B), (C) &o &rE
B: (A), (D), (E) &0 Se@
c: (D), (E) & &m(&d

(A), (B), (E) e» L@




Topic:

Chemistry-Section B

Item No: 81

Question

D- 100681

Ques.tion Numeric Answer

Type:
S 1565565 :
X + Y + 324 ‘—_’)(YZ3

Question: | 2,8 Zrd X HBE a8 S Y en 0.05 305 © Z 8 S50 XYZ, D DSY6:om. XYZ,
8 (vield) g. (85D Hrmosin)
(aﬁ)azé&n : X, Y 08050 Z o Hsreangroren SHodre 10, 20 08a5w 30 amu.)

Topic: Chemistry-Section B

Iltem No: 82

Question ID: | 100682

_CI_)ue§tion Numeric Answer

ype:

2.8 SwroXsn M wod: Eolds HScrds 28 & @&Jéﬁéz@o 308, ©oHerEy 300 pm

Question: | DA &o&00d. Swredsn Fro@d 60gom 3. 180 go Jwreding® DY) I8SrwHe
Sogy x 1023, (BK8 Frroddn)

Topic: Chemistry-Section B

Item No: 83

Question ID: 100683

Question Type:

Numeric Answer

Bob TBE° HorohIod erde Sows

Question:
. - 22— R -
Topic: Chemistry-Section B
Iltem No: 84
Question
D- 100684
Question

Type:

Numeric Answer




150 g © dRBso, 102 g o G wxpo (C;HO,) & Seoddd, o PSS Fdo
(x X107 1)°C SRod. x Densd . (FrTpo¥ waren)

Question:
ERE K=3.9 k kg mol 1]
[2R%8)8 esho Srerd gro =176 g mol 1]
Topic: Chemistry-Section B
Item No: 85
Question
D- 100685
Ques.tion Numeric Answer
Type:
2xB08 exy (C;H,COOH) K, Dend 2x107°, 0.2 MaxB68 e @k pH
Question: x10~ 1, (Eﬁ?rf.@ ?’.gj‘cgoéaﬁn)
[22)36 @ log 2 =0.30]
Topic: Chemistry-Section B
Item No: 86
Question
D- 100686
_?;pe;tion Numeric Answer
BoB It (Ko S8
A—>B
Question: .
@csdswoﬁ) 0.3010 min [oredEs) SOrESEH HOSD 2 Aare SHarsd el MESEDH Ko
QB B IS0, (818 SyrTpossim)
Topic: Chemistry-Section B
Item No: 87
Question
D- 100687
?ues.tion Numeric Answer
ype:
. CIF,, IF;, BrFs, BrF,, LCl,, IF5, CIF, CIF; 0&° $&8( drargose8 (square pyramidal)
Question: b 3
&)méeao BOAS w0855 ke dogy :
Topic: Chemistry-Section B

ltem No:

88




Question

D 100688
_I(?;pees:tion Numeric Answer
@@ﬂcﬁrééoeﬁé MnOﬁ_ DB HET ol A S8k B d2a Bot LroKdD ‘K)Ex:éémezzﬁ)
Question: 3‘)6&&53‘@0&. B&® Mneaégééea %)3 A & %08 SENS ©OoNS, B &w¥) ?’\JQ)S 50‘7@633 @cﬁa@&oé
[gPso8sn (n) BM ed® . (&58 Frpostn)
Topic: Chemistry-Section B
Item No: 89
Question
D 100689
_I(?;pees:tion Numeric Answer
Question: @@Eﬁwéoﬁz Cu(en),(SeN), % Jegorh Frngorre aEd RBZ0 a5 Hoayg
Topic: Chemistry-Section B
ltem No: a0
Question ID: | 100690
_(I?;pees:tion Numeric Answer
C, H %8csn Oen ZOAS 0492 g o o8 ZBR éﬁa&?’a@& RO Brd0 roR[HE
Question:

0.7938 g & CO, B0 0.4428 g © H,0 &8)8 wonod. IESes® ofes Sopes %




